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Are these some kind of long-period
oscillation in the atmosphere?
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Coherent structures seem to be present



z = 88 km

220

210

+ 5
+ :
+ T :
& :
+ ¥ + =
* + +
o+ + F -
+0 % T 3
s + + o+ -
. T + + 2 8
+ + B =
o = :
+ ¥ + E
+ :
+ e
+
L l L L i I i L L

400 600 800 1000 1200 1400
DOY 2006



T (K)

Z=78 km
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T (K)

z =88 km

Z =78 km
Z = 68 km
Z =58 km
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Z = 88 km
Zz =78 km
Period is ~700-1000 days Z = 68 km

Anyone know an atmospheric z = 58 km
dynamicist who could interpret 5 — 48 km

these? 355 —— T T T T T
L . " . +
- . .
X
350z * + 4 R
1%
: * & % $ :- il 3
— + + + + ° ot
< 3450 ) ° +
S = o-l- l
3 - + + ¥ * + *
+
+
I * ++ L
340._ + + o
335- M M 1 L M M 1 M L 1

2000 400 600 800 1000 1200 1400
nNOYV 2006



220

210

+ :
+ 3
+ I :
$ :
+ * + + .
S + +
-I?+ + <>+E
+ =
+ + 1_+:
3 + + + + -
+ 3 ]
* & -
+ ¥ + .
+ :
& -
+
1 1 M

400 600 800 1000 1200 1400
DOY 2006



T (K)

235 ; = ]
230 + i
. 3 + -
L + <
225 SR §-
E+ . % * i ]
i . W .
220 3 : ** + F 3
© + J
L 4 + . ;
215 : , '_;:'_N ]
- ¥
210 i M 2 2 [ | 2 2 M 1 2 2 M 1 2 M 2 ] 2 2 2 ] M 2 2 i
200 400 600 800 1000 1200 1400

Z=78 km

DOY 2006



T (K)

250 ) ; : I ]
L T
245 - + . 3 ; .
; +& - 7 :o ]
240 J ' + +: ¥ <>+ + .
' *o % + :
2 L .
235 _-"' * * * .
[ + * * :
230 |- + -
i + 3 i
pp L A T
200 400 600 800 1000 1200 1400

DOY 2006



270: ————————— ; : T
265 |- * s
F +
260 F+ . + .
L L. : . ;
255 F & + . E
[ & + + * °
[+ + + 4
2505 N ;b g + & <>+
245 ey o, e
240 + o
235t TP T

200- | 400 600 800 1000 1200 1400
DOY 2006
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